Graphing Quadratic Inequalities

Solving Quadratic Inequalities

Steps to Solve Quadratic Inequalities

Step 1: Find the zeros.

Step 2: Graph the points on a number line.
Step 3: Test points within each interval.

Step 4: Sketch the solution on a number line.

1. Solve each quadratic inequality.
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Steps to Graph Quadratic Inequalities
Step 1: Find the vertex and the zeros.
Step 2: Sketch the graph.

2. Graph each quadratic inequality.

a) y<x*-2x-8
=1 b=-3
Verdex: xz-b-~(-) = 2= |
C1,-9) FEREVIN
y= ()'~2)-8=1-1-8= -9

Zeros: O= x*-Ax-%
Cx— YWY x + D=0
X-4=0 X+d=0a
My

X=y X=-X
(4,0 (-2.0)
b) y>x: -4
=) =0
Vordexi XT th -2 —8 =9 =4
(o.-\) 2 =

X4QTG  x-2=0

f~Q ,O) (4 ‘0)

AT

,/l
/]

%
—~N\
~ e




(S
o=+ x)\ - X)
1+ X=4 - x=0
-\ -\ - =\

—Xx=-1
x=)1

f=\.06) Y

-

N~
NRNKA N




